

AN EXISTENCE THEOREM FOR ABEL INTEGRAL EQUATIONS*

KENDALL E. ATKINSON†

Abstract. An existence and smoothness theorem is given for the Abel integral equation $\int_0^s K(s, t)f(t)(s^p - t^p)^{-\alpha} dt = g(s)$, $0 < s \leq T$, with given $p > 0$ and $0 < \alpha < 1$. Particular attention is given to the behavior of $g(s)$ and $f(s)$ about $s = 0$.

1. Introduction. Consider the Abel integral equation

$$(1.1) \quad \int_0^s \frac{K(s, t)f(t) dt}{(s^p - t^p)^\alpha} = g(s), \quad 0 < s \leq T,$$

with given $p > 0$ and $0 < \alpha < 1$. To avoid degeneracy, we shall assume $K(s, s) \neq 0$ for $0 \leq s \leq T$. This is a classical equation, and it is obtained from a variety of mathematical and physical problems; see the bibliography of Noble [7].

In the past this equation has been examined case by case (for example, see Schmeidler [8] and the references in [7]). The methods of analysis were usually constructive or explicit, and the numerical analysis of (1.1) was usually based on these methods. Within the last few years, direct numerical methods for (1.1) have been proposed and studied (see [1]–[6], [10], [11]). These are general numerical methods which depend only on the smoothness of $K(s, t)$ and $f(t)$. As a complementary study to the numerical analysis of (1.1), we give a result on the existence and smoothness of solutions.

We shall need some special function spaces. For $\gamma > -1$, let us define

$$\mathcal{X}_\gamma = \{s^\gamma f(s) \mid f \in C[0, T]\},$$

$$\mathcal{X} = \bigcup_{\gamma > -1} \mathcal{X}_\gamma.$$

It can easily be seen that if $\gamma < \delta$, then $\mathcal{X}_\gamma \supset \mathcal{X}_\delta$. The space is much, but not all, of $L(0, T) \cap C(0, T]$.

THEOREM. *Let $g(s)$ have the form*

$$(1.2) \quad g(s) = s^\beta \tilde{g}(s), \quad 0 < s \leq T, \quad \tilde{g} \in C^{n+1}[0, T],$$

for some integer $n \geq 0$. Let β satisfy

$$(1.3) \quad p\alpha + \beta > 0.$$

Assume $K(s, t)$ is $n + 2$ times continuously differentiable for $0 \leq t \leq s \leq T$, and furthermore,

$$(1.4) \quad K(s, s) \neq 0, \quad 0 \leq s \leq T.$$

Then there is a unique solution $f \in \mathcal{X}$ of (1.1), and its form is

$$(1.5) \quad f(s) = s^{p\alpha + \beta - 1} [a + sl(s)] \equiv s^{p\alpha + \beta - 1} \tilde{f}(s), \quad s > 0,$$

* Received by the editors August 29, 1972, and in revised form March 9, 1973.

† Department of Mathematics, University of Iowa, Iowa City, Iowa 52240. This work was supported in part by the National Science Foundation under Grant GP-33584.

with $l \in C^n[0, T]$. The constant $a = 0$ if and only if $\tilde{g}(0) = 0$. (Note that the special form of $\tilde{f}(s)$ implies the existence of $\tilde{f}^{(n+1)}(0)$.) Finally, there is a constant $d_n > 0$, independent of $\tilde{g} \in C^n[0, T]$, for which

$$(1.6) \quad \max \{ \|\tilde{f}\|, \dots, \|\tilde{f}^{(n)}\| \} \leq d_n \max \{ \|\tilde{g}\|, \dots, \|\tilde{g}^{(n+1)}\| \}.$$

The norm is the max norm on $[0, T]$.

In § 2 we give some standard results for $K(s, t) \equiv 1$. In § 3, we introduce a decomposition of (1.1) and prove some preliminary results about it. The proof of the theorem is given in § 4.

The theorem is true for systems as well. Let $K(s, t)$ be an $m \times m$ matrix, and let f and g be m -component column vectors. Condition (1.4) is replaced by

$$\det K(s, s) \neq 0, \quad 0 \leq s \leq T;$$

all smoothness statements generalize immediately. The proof given in § 3 and § 4 generalizes by merely replacing absolute values by appropriate vector and matrix norms.

2. The Abel transform. Define the Abel transform by

$$\mathcal{A}n(s) = \int_0^s \frac{h(t) dt}{(s^p - t^p)^\alpha}, \quad 0 < s \leq T, \quad h \in L^1(0, T) \cap C(0, T].$$

(See Sneddon [9] for some properties and uses of the transform.) We give the needed properties of \mathcal{A} in the following lemma.

LEMMA. Consider the equation

$$(2.1) \quad \int_0^s \frac{f(t) dt}{(s^p - t^p)^\alpha} = s^\beta \tilde{g}(s), \quad 0 < s \leq T,$$

with $\tilde{g} \in C^{n+1}[0, T]$, for some $n \geq 0$ and $p\alpha + \beta > 0$. Then there is a unique solution $f \in L^1(0, T) \cap C(0, T)$ and its form is

$$(2.2) \quad f(s) = s^{p\alpha + \beta - 1} [a + sk(s)] \equiv s^{p\alpha + \beta - 1} \tilde{f}(s),$$

with $k \in C^n[0, T]$ and $a \equiv \text{const}$. Moreover, for some constant d ,

$$(2.3) \quad \|\tilde{f}^{(n)}\| \leq d \max \{ \|\tilde{g}\|, \dots, \|\tilde{g}^{(n+1)}\| \}.$$

Proof. The inverse of \mathcal{A} is given by

$$(2.4) \quad \mathcal{A}^{-1}h(s) = \frac{p \sin(\alpha\pi)}{\pi} \frac{d}{ds} \int_0^s \frac{r^{p-1}h(r) dr}{(s^p - r^p)^{1-\alpha}}, \quad s > 0.$$

Using this and a change of the variable of integration, we obtain (2.2) with

$$(2.5) \quad a = \frac{p \sin(\alpha\pi)}{\pi} (p\alpha + \beta) \tilde{g}(0) \int_0^1 \frac{u^{p+\beta-1} du}{(1-u^p)^{1-\alpha}},$$

$$k(s) = \frac{p \sin(\alpha\pi)}{\pi} \int_0^1 \frac{u^{p+\beta}}{(1-u^p)^{1-\alpha}} \left[\tilde{g}'(us) + (p\alpha + \beta) \frac{\tilde{g}(us) - \tilde{g}(0)}{us} \right] du.$$

The remaining results follow from the formula for $k(s)$.

3. Preliminary definitions and results. Define

$$\mathcal{K}h(s) = \int_0^s \frac{K(s, t)f(t) dt}{(s^p - t^p)^\alpha}, \quad 0 < s \leq T, \quad h \in L^1(0, T) \cap C(0, T].$$

To simplify some formulas, we assume, without loss of generality, that

$$K(s, s) = 1, \quad 0 \leq s \leq T.$$

Assuming $K_2(s, s) = \partial K(s, t)/\partial t|_{t=s}$ exists, let us define

$$H(s, t) = \begin{cases} \frac{K(s, s) - K(s, t)}{s - t}, & s > t, \\ \frac{\partial K(s, t)}{\partial t}, & s = t; \end{cases}$$

$$\mathcal{H}h(s) = \int_0^s \frac{H(s, t)(s - t)^{1-\alpha}h(t) dt}{[(s^p - t^p)/(s - t)]^\alpha}, \quad 0 < s \leq T.$$

Then

$$(3.1) \quad \mathcal{K} = \mathcal{A} - \mathcal{H}.$$

To solve $\mathcal{K}f = g$, equation (1.1), we solve the problem

$$(3.2) \quad \mathcal{A}z = g, \quad f - \mathcal{A}^{-1}\mathcal{H}f = z.$$

To examine the existence and smoothness of f , we shall need a formula for $\mathcal{A}^{-1}\mathcal{H}$. An especially useful one is

$$(3.3) \quad \mathcal{A}^{-1}\mathcal{H}h(s) = \frac{sp \sin(\alpha\pi)}{\pi} \left\{ \int_0^1 \frac{u^{p-1}}{(1-u^p)^{1-\alpha}} \int_0^u \frac{h(ws)(u-w)^{1-\alpha}}{[(u^p-w^p)/(u-w)]^\alpha} [p\alpha H(us, ws) + usH_1(us, ws)] dw du + \int_0^1 \frac{u^p}{(1-u^p)^{1-\alpha}} \int_0^u \frac{H(us, ws)h(ws)}{(u^p-w^p)^\alpha} \cdot \left[1 - \frac{\alpha p w^{p-1}(u-w)}{u^p-w^p} \right] dw du \right\},$$

which is valid for all $h \in \mathcal{X}$. To obtain it, we take a specific form for h , say $h(s) = s^\gamma \tilde{h}(s)$, for some $\gamma > -1$, $\tilde{h} \in C[0, T]$. Substituting this into $\mathcal{H}h(s)$, we make a change of variable, and note the behavior of $\mathcal{H}h(s)$ about $s = 0$. We substitute this into (2.4), and then perform much algebraic manipulation to obtain (3.3). Note that we need the existence of the partial derivative $H_1(s, t)$, which follows from the fact that $K(s, t)$ is twice continuously differentiable.

We also need a number of special inequalities. From the identity

$$\frac{1-s^p}{1-s} = p \int_0^1 [1 - (1-s)r]^{p-1} dr, \quad 0 \leq s < 1, \quad p > 0,$$

we obtain

$$(3.4) \quad \min \{1, p\} \leq \frac{1 - s^p}{1 - s} \leq \max \{1, p\}, \quad 0 \leq s < 1, \quad p > 0.$$

From the estimate

$$\Gamma(x + 1) = \sqrt{2\pi} x^{x+1/2} e^{-x+\theta/12x}, \quad x > 0, \quad 0 < \theta < 1,$$

we obtain

$$(3.5) \quad \frac{\Gamma(x)}{\Gamma(x + \lambda)} \leq \frac{\gamma(x)}{(x + \lambda)^\lambda}, \quad x > 0, \quad 0 \leq \lambda \leq 1,$$

with

$$\gamma(x) = \left(1 + \frac{1}{x}\right) e^{1+1/12x},$$

a monotone decreasing function of x on $(0, \infty)$.

Define

$$(3.6) \quad \begin{aligned} A(l) &= \int_0^1 \frac{u^{p-1}}{(1-u^p)^{1-\alpha}} \int_0^u w^l (u-w)^{1-\alpha} \left[\frac{u-w}{u^p-w^p}\right]^\alpha dw du, \\ B(l) &= \int_0^1 \frac{u^p}{(1-u^p)^{1-\alpha}} \int_0^u \frac{w^l dw}{(u^p-w^p)^\alpha} du, \end{aligned} \quad l > -1.$$

We use the change of variable $w = uv$, $0 \leq v \leq 1$, the bounds (3.4), and some manipulation to reduce (3.6) to new formulas involving beta functions. We evaluate these and then bound them, using (3.5), to obtain eventually

$$(3.7) \quad A(l) \leq \frac{C_A(l)}{(l+2-\alpha)^2}, \quad B(l) \leq \frac{C_B(l)}{(l+2-\alpha)}, \quad l > -1,$$

with $C_A(l)$ and $C_B(l)$ monotone decreasing functions on $(-1, \infty)$.

4. Proof of theorem. The proof is divided into several parts.

(i) *Existence and uniqueness of solution $f \in \mathcal{X}$.* Recall the statement of the theorem. It is easily seen that if either $\mathcal{K}f = g$ or formulation (3.2) has a unique solution for a g of form (1.2), then so does the other. We shall use (3.2).

Let $\mathcal{A}z = g$. By the lemma,

$$(4.1) \quad z(s) = s^{p\alpha+\beta-1}[a + sk(s)] \equiv s^{p\alpha+\beta-1}\tilde{z}(s), \quad k, \tilde{z} \in C^n[0, T].$$

To show the unique solvability in \mathcal{X} of $(I - \mathcal{A}^{-1}\mathcal{H})f = z$, we shall show that

$$I - \mathcal{A}^{-1}\mathcal{H} : \mathcal{X} \xrightarrow{\text{onto}} \mathcal{X}.$$

This will be shown by proving that

$$(4.2) \quad I - \mathcal{A}^{-1}\mathcal{H} : \mathcal{X}_\gamma \xrightarrow{\text{onto}} \mathcal{X}_\gamma \quad \text{for all } \gamma > -1.$$

From (4.2) and (4.1), we shall also have

$$(4.3) \quad f(s) = s^{p\alpha+\beta-1}\tilde{f}(s), \quad \tilde{f} \in C[0, T].$$

To prove that (4.2) holds, we begin by looking at (3.3) with $h(s) = s^\gamma\tilde{h}(s)$. Then

$$(4.4) \quad \begin{aligned} \mathcal{A}^{-1}\mathcal{H}h(s) &= \frac{ps^{\gamma+1}\sin(\alpha\pi)}{\pi} \left\{ \int_0^1 \frac{u^{p-1}}{(1-u^p)^{1-\alpha}} \int_0^u \frac{w^\gamma\tilde{h}(ws)(u-w)^{1-\alpha}}{[(u^p-w^p)/(u-w)]^\alpha} \right. \\ &\quad \cdot [p\alpha H(us, ws) + usH_1(us, ws)] dw du \\ &\quad \left. + \int_0^1 \frac{u^p}{(1-u^p)^{1-\alpha}} \int_0^u \frac{H(us, ws)w^\gamma\tilde{h}(ws)}{(u^p-w^p)^\alpha} \left[1 - \frac{\alpha pw^{p-1}(u-w)}{u^p-w^p} \right] dw du \right\} \\ &\equiv s^{\gamma+1}\tilde{y}(s), \quad \tilde{y} \in C[0, T]. \end{aligned}$$

Thus

$$(4.5) \quad \mathcal{A}^{-1}\mathcal{H} : \mathcal{X}_\gamma \rightarrow \mathcal{X}_{\gamma+1}, \quad \gamma > -1,$$

and this proves that $I - \mathcal{A}^{-1}\mathcal{H}$ maps \mathcal{X}_γ into \mathcal{X}_γ .

Let $z \in \mathcal{X}_\gamma$ for some $\gamma > -1$, $z(s) = s^\gamma\tilde{z}(s)$. We shall show the existence of $f \in \mathcal{X}_\gamma$ with $(I - \mathcal{A}^{-1}\mathcal{H})f = z$ by looking at the Neumann series for the equation. Define

$$f_j = [\mathcal{A}^{-1}\mathcal{H}]^j z, \quad \tilde{f}_j(s) = s^{-\gamma}f_j(s), \quad s \geq 0, \quad j = 0, 1, 2, \dots$$

By induction, using (4.5), we have $f_j \in \mathcal{X}_\gamma$ for all $j \geq 0$, and thus $\tilde{f}_j \in C[0, T]$. We shall show that

$$(4.6) \quad \tilde{f}(s) \equiv \sum_0^\infty \tilde{f}_j(s)$$

converges uniformly on $[0, T]$. It will follow by standard arguments for Neumann series that $f(s) \equiv s^\gamma\tilde{f}(s)$ is a solution of $(I - \mathcal{A}^{-1}\mathcal{H})f = z$. We shall discuss uniqueness later.

Let M be a bound on $|H(s, t)|$ and $|H_1(s, t)|$ for $0 \leq t \leq s \leq T$. As an induction hypothesis, assume that for $i \leq j$,

$$(4.7) \quad |\tilde{f}_i(s)| \leq D_i s^i, \quad 0 \leq s \leq T.$$

This is easily seen to be true for $j = 0$ since $\tilde{f}_0 \equiv \tilde{z}$; use $D_0 = \|\tilde{z}\|$. Assuming the hypothesis for a general j , we shall use (4.4) to prove it for $j + 1$. Since $\tilde{f}_{j+1}(s) = s^{-\gamma}[\mathcal{A}^{-1}\mathcal{H}f_j](s)$, from (4.4), (4.7), (3.4), and (3.6) it follows that

$$\begin{aligned} |\tilde{f}_{j+1}(s)| &\leq s^{j+1} \frac{p \sin(\alpha\pi)}{\pi} MD_j \left\{ (p\alpha + T)A(j + \gamma) \right. \\ &\quad \left. + \left(1 + p\alpha \max \left\{ 1, \frac{1}{p} \right\} \right) B(j + \gamma) \right\}. \end{aligned}$$

From (3.7), with $r = \gamma + 2 - \alpha > 0$, we obtain

$$(4.8) \quad |\tilde{f}_{j+1}(s)| \leq D_{j+1}s^{j+1}, \quad D_{j+1} = \frac{C_0 D_j}{j+r},$$

$$C_0 = \frac{p \sin(\alpha\pi)}{\pi} M \left\{ (p\alpha + T) \frac{C_A(\gamma)}{1-\alpha} + (1 + p\alpha \max\{1, 1/p\}) C_B(\gamma) \right\}.$$

The constant C_0 is independent of $j \geq 0$. Also, the induction is completed.

Using (4.8) and $D_0 = \|\tilde{z}\|$, we obtain

$$(4.9) \quad |\tilde{f}_j(s)| \leq \Gamma(r) \|\tilde{z}\| \frac{C_0^j s^j}{\Gamma(r+j)}, \quad j \geq 0, \quad 0 \leq s \leq T.$$

For the series (4.6),

$$(4.10) \quad |\tilde{f}(s)| \leq \Gamma(r) \|\tilde{z}\| \sum_0^\infty \frac{C_0^j s^j}{\Gamma(r+j)}.$$

This converges uniformly on $[0, T]$, and thus $\tilde{f}(s)$ is continuous.

To prove the uniqueness in \mathcal{X} , of the previously constructed f , let us assume that

$$y - \mathcal{A}^{-1} \mathcal{H} y = 0, \quad y(s) = s^\gamma \tilde{y}(s), \quad \tilde{y} \in C[0, T].$$

Then

$$y = [\mathcal{A}^{-1} \mathcal{H}]^j y, \quad j \geq 0.$$

Applying the same kind of derivation as that used to obtain (4.8), with \tilde{z} replaced by \tilde{y} , we obtain

$$|\tilde{y}(s)| \leq \Gamma(r) \|\tilde{y}\| \frac{C_0^j s^j}{\Gamma(r+j)}, \quad 0 \leq s \leq T, \quad j \geq 0.$$

It follows that $\tilde{y} \equiv 0$, and thus $y \equiv 0$.

We combine (4.9) with (2.3) of the lemma to obtain the stability result (1.6) for the case $n = 0$. The proof of the remaining part of (1.5) is given later.

(ii) *Case $n = 1$.* We shall show that each $\tilde{f}_j \in C^1[0, T]$ and that

$$(4.11) \quad \sum_0^\infty \tilde{f}'_j(s)$$

converges uniformly on $[0, T]$. It then follows by standard arguments that $\tilde{f} \in C^1[0, T]$ and that $\tilde{f}'(s)$ equals the series (4.11).

From $\tilde{f}_0 = \tilde{z}_0$ and (4.1), we have that $\tilde{f}_0 \in C^1[0, T]$. By induction on j using (4.4), it follows that $\tilde{f}_j \in C^1[0, T]$ for all j . For a second induction, assume that for $1 \leq i \leq j$,

$$|\tilde{f}'_i(s)| \leq D_i^{(1)} s^{i-1}, \quad 0 \leq s \leq T.$$

This is true for $j = 1$ since $\tilde{f}'_1(s)$ is continuous. Let us assume it for general j , and

use (4.8) and the derivative $\tilde{f}'_{j+1}(s)$ from (4.4) to obtain

$$(4.12) \quad |\tilde{f}'_{j+1}(s)| \leq C_1 \left[\frac{C_1^j \Gamma(r)}{\Gamma(r+j)} + \frac{D_j^{(1)}}{r+j+1} \right] s^j = D_{j+1}^{(1)} s^j,$$

with $C_1 = \text{const.}$, $C_1 \geq C_0$. The induction is completed. Also choose C_1 large enough to ensure that

$$|\tilde{f}'_1(s)| \leq C_1 \max \{ \|\tilde{z}\|, \|\tilde{z}'\| \}.$$

From (4.12), it follows that

$$|\tilde{f}'_j(s)| \leq \gamma_1(j) \frac{C_1^{j-1} s^{j-1}}{\Gamma(r+j-1)} \max \{ \|\tilde{z}\|, \|\tilde{z}'\| \},$$

with $\gamma_1(j)$ a linear polynomial in j , for $j \geq 1$, $0 \leq s \leq T$. From this it follows that the series of (4.11) converges uniformly, concluding the proof. The stability result (1.6) follows as with $n = 0$.

(iii) *A brief sketch of the general case.* Let us assume that the result has been proven for $n \leq m - 1$ and let us prove it for $n = m$. As part of the induction, we assume that

$$(4.13) \quad |\tilde{f}_j^{(n)}(s)| \leq \gamma_n(j) \frac{C_1^{j-n} s^{j-n}}{\Gamma(r+j-n)} \max \{ \|\tilde{z}\|, \dots, \|\tilde{z}^{(n)}\| \}$$

for $j \geq n$, $0 \leq n \leq m - 1$, $0 \leq s \leq T$, with $\gamma_n(j)$ a polynomial in j of degree $\leq n$. To prove the theorem for $n = m$, let us form the m th derivative of $\tilde{f}_{j+1}(s)$ using (4.4) and Leibniz's rule. Then we proceed exactly as with the case $n = 1$. The many details are omitted.

(iv) *The special form of (1.5).* Since $\tilde{f} \in C^n[0, T]$, we use $f(s) = s^{p\alpha+\beta-1} \tilde{f}(s)$ and (4.4) to obtain

$$\mathcal{A}^{-1} \mathcal{H}f(s) = s^{p\alpha+\beta} l(s), \quad l \in C^n[0, T].$$

Using $f = z + \mathcal{A}^{-1} \mathcal{H}f$, formula (4.1), and the preceding equality we obtain

$$f(s) = s^{p\alpha+\beta-1} [a + s(k(s) + l(s))],$$

the desired form. From (2.5), it is seen that the constant $a = 0$ if and only if $\tilde{g}(0) = 0$.

REFERENCES

[1] K. ATKINSON, *The numerical solution of an Abel integral equation by a product trapezoidal method*, SIAM J. Numer. Anal., 11 (1974), pp. 97-101.
 [2] MICHAEL BENSON, *Doctoral thesis*, Univ. of Wisconsin, Madison, 1973.
 [3] PETER LINZ, *Applications of Abel transforms to the numerical solution of problems in electrostatics and elasticity*, Tech. Rep. 826, Mathematics Research Center, Univ. of Wisconsin, Madison, 1967.
 [4] P. LINZ AND B. NOBLE, *A numerical method for treating indentation problems*, J. Engrg. Math., 5 (1971), pp. 227-231.
 [5] G. N. MINERBO AND M. E. LEVY, *Inversion of Abel's integral equation by means of orthogonal polynomials*, SIAM J. Numer. Anal., 6 (1969), pp. 598-616.
 [6] B. NOBLE, *The numerical solution of Volterra integral equations*, Notes of lectures given at Mathematics Research Center, Univ. of Wisconsin, Madison, 1970.

- [7] ———, *A bibliography on: "Methods for solving integral equations," author listing and subject listing*, Tech. Repts. 1176 and 1177, Mathematics Research Center, Univ. of Wisconsin, Madison, 1971.
- [8] W. SCHMEIDLER, *Integralgleichungen mit Anwendungen zu Physik und Technik*, Akademische Verlagsgesellschaft, Leipzig, 1950.
- [9] I. SNEDDON, *Mixed Boundary Value Problems in Potential Theory*, North-Holland, Amsterdam, 1966.
- [10] R. WEISS, *Product integration for the generalized Abel equation*, *Math. Comp.*, 26 (1972), pp. 177–190.
- [11] R. WEISS AND R. S. ANDERSEN, *A product integration method for a class of singular first kind Volterra equations*, *Numer. Math.*, 18 (1972), pp. 442–456.